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SECTION-A (10 Marks)
Answer ALL questions

ALL questions carry EQUAL marks (10 x1=10)

Module | Question

No. No. Question

K
Level

CO

The length of the perpendicular from the point (4,3,0) to the
1 plane 2x + 3y + V3z+ 3 =0is

OF (b) 5 (©2 @2

| x

‘CO1

Compare and find the angle between the planes 2x ~ y +
2 Zz =6 &x +y+ 2z = 3 from the following: :

@ ®F @7 @

COl

The shortest distance between the two lmes 2=¥=Zan4

e o @ @

Kl

co2

The straight lines in space which are not coplanar are
called .

(a) parallel lines . . .- (b) skew lines

(c) perpendicular lines -~ (d) intersecting lines

Co2

The equatlon of the tangent plane at (0,0,1) to the sphere
_ x2+y*+22=1is. .

‘ T | @x=0 (b)y 0

3 ©z=1 dx+ty+z=1

K1

‘CO3

The plane section of a sphere is
6 (a) a straight line -~ '(b) a plane
(c) a circle : (d) a sphere

CO3

If f = x2i — xyj and C is the straight line joining the points
7 (0,0) and (1,1) then. f.r.dris
@1 ®o -1 @2

K1

CO4

— Infer aﬁd find the v'aiue of div curl £, .
(@0 (b)1 | (©)-1 @@f

CO4

Stoke’s theorem connects

(a) line integral and double integral

‘9 (b) line integral and surface integral

(c) double integral and surface integral
5 (d) surface integral and volume integral

K1

CO5

The integral J_F. dar'= ff Curl F.ds is called .

10 (a) Surface mtegral (b) Green’s theorem
' | (c) Stokes theorem ~_ (d) divergence theorem

COs
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SECTION - B (35 Marks
Answer ALL questions
ALL questions carry EQUAL Marks (5x7=35)
Meodule | Question . K
No. No. Question Level co
Infer and find the equation of the plane through the point . |~
11.a. | (1,-2,3) and the intersection of the planes 2x —y -+ 4z =
7&x+2y—32+8=0.
1 (OR) K2 |COl
Find the equation of the plane which passes through the
11.b. point (-1,3,2) and perpendicular to the two planes x +
2y+2z=5&3x+3y+2z= 8.
Infer and find the perpendicular distance from P(39,—-1)
12.a. . x+8 _ y-31 _ z-13
tothelme-_—8-=—1—= —
2 (OR) - K2 |CO2
2h Show that the shortest distance between the lines ’—‘:—1— =
13a.. Infer and find the radius and centre of the sphere 2x2 +
o 292 272 —2x + 4y +2z2 = 15.
3 (OR) K2 |CO3
' Interpret and find the equation of the sphere which has its
13.b. centre at the point (6,-1,2) and touches the plane 2x-y+2z-
2=0.
|4 |Evaluate $.(3y — e *)ydx + (7x + [y* + 1)dy, where
| Cisthecirclex* +y*=9.
4 {OR) K3 [ CO4
14b Evaluate (2 + x?y) ds, where C is the upper half of the
| unitcirclex2 +y2 = 1. )
152 Analyze the flux of the vector field F(x,y,2) = zi + yj+
2| vk across the unit sphere x> + y2 + 2% = 1.
5. (OR) K4 {CO5
15b Examine a parametric representation for the cylinder x2 +
T |yr=4,052z<1.
SECTION -C (30 Marks)
Answer ANY THREE questions
ALL questions carry EQUAL Marks (3 x 10=30)
Module | Question . K
No. No. Question Level co
Infer and find the equation of the plane passing through the
1 16 | Doints (2,-5,-3),(-2,-3,5) and (5.3,-3). K2 |col
Show that the lines 2 = 2H0 = L 248 _ 72 - Bl g
-3 o 2’ -4 7 1
2 17 coplanar. Find also their point of intersection and the plane K2 |CO2
through them.
Infer and find the equation of the sphere which passes
3 18 through the circle x? + y2 + 2% —2x —4y =0, K2 {CO3
x+2y+32=8 and touches the plane 4x+3y=25.
I F(x,v,2) = y*i+ (2xy + €5)] + 3ye*?k,finda
4 19 function f suchthat Vf = F. K3 | Co4
Evaluate the tangent plane to the surface with parametric
5 20 equations x = u?,y =viz=u-+2vatthe point (1,1,3). K4 | COS
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